Advanced Programming

Tutorial 2

Name: ________________________ (      )


Class: ___________

1. (No.9) Which of the following are invalid identifiers?

a. R2D2


b. Whatchamacallit

c. HowAboutThis?


d. Java


e. GoodChoice


f. 12345

g. 3CPO


h. This is okay.


i. thisIsReallyOkay

j. aPPlet


k. Bad-Choice


l. A12345

Answer: _________________________________________

2. (No.13) On the back of this sheet, show a state-of-memory diagram after each of the following statements is executed:

Person   
person1, person2;

person1 = new Person();

person2 = new Person();

person2 = new Person();

3. (No.14) Which of the following identifiers violate the naming convention for class names?

a. r2D2

b. whatchamacallit

c. Java
d. GoodName

e. CPO

f. ThisIsReallyOkay
g. java
h. aPPlet

Answer: _________________________________________

4. (No.15) Which of the following identifiers violate the naming convention for object names?

a. R2D2

b. isthisokay?

c. Java
d. goodName

e. 3CPO

f. ThisIsReallyOkay
g. java
h. anotherbadone

Answer: _________________________________________

5. (No.16) How are Java applets different from Java applications?

Answer: _______________________________________________________

______________________________________________________________

- The End -

Lab 2

Type in, compile and run the following application (textbook p.66) using the javabook package.  Your instructor will tell you how to do this.

Application: DisplayMessage.java

import javabook.*;

class DisplayMessage

{

  public static void main (String[] s)

  {

    MainWindow mainWindow = new MainWindow(“Display Message”);

    MessageBox messageBox = new MessageBox(mainWindow);

    mainWindow.setVisible(true);

    messageBox.show(“I love Java”);

  }

}

- The End -
